

# Комбинаторная логика №6

№17.10

$$A = (\exists x) (\overline{P(x)} \vee \overline{R(x)} \rightarrow (\exists y) \overline{Q(x,y)}) = \\ = (\exists x) (\exists y) ((\overline{P(x)} \wedge R(x)) \vee \overline{Q(x,y)})$$

$$A = (\exists x) ((\overline{P(x)} \wedge R(x)) \vee \overline{Q(x,1)}) \vee ((\overline{P(x)} \wedge R(x)) \vee \\ \vee \overline{Q(x,2)}) = ((\overline{P(1)} \wedge R(1)) \vee \overline{Q(1,1)}) \vee \\ \vee ((\overline{P(1)} \wedge R(1)) \vee \overline{Q(1,2)}) \vee ((\overline{P(2)} \wedge R(2)) \vee \\ \vee \overline{Q(2,1)}) \vee ((\overline{P(2)} \wedge R(2)) \vee \overline{Q(2,2)})$$

$$A \text{ И} = ((1 \wedge 0 \vee 0) \vee ((1 \wedge 0) \vee 1) \vee ((0 \wedge 1) \vee 1) \vee ((0 \wedge 1) \vee 1)) = \\ = 1$$

$$\pi_1 = P(1); \pi_2 = P(2); \pi_3 = R(1); \pi_4 = R(2)$$

$$\pi_5 = \overline{Q(1,1)}; \pi_6 = \overline{Q(1,2)}; \pi_7 = \overline{Q(2,1)}; \pi_8 = \overline{Q(2,2)}$$

$$A = ((\pi_1 \wedge \pi_3) \vee \overline{\pi_5}) \vee ((\pi_1 \wedge \pi_3) \vee \overline{\pi_6}) \vee ((\pi_2 \wedge \pi_4) \vee \overline{\pi_7}) \vee \\ \vee ((\pi_2 \wedge \pi_4) \vee \overline{\pi_8})$$

$$A = 1 \text{ Если } \pi_5 = 0 \text{ или } \pi_6 = 0 \text{ или } \pi_7 = 0 \text{ или } \pi_8 = 0 \\ \text{ или } \pi_1 \wedge \pi_3 = 1 \text{ или } \pi_2 \wedge \pi_4 = 1$$

$\pi$	1	2	$Q(x,y)$	1	2
$P(x)$	1	1		1	0
$R(x)$	1	1		2	1



Выполняется импликация A.



$$\bar{A} = ((\bar{x}_1 \vee \bar{x}_3) \wedge x_5) \wedge ((\bar{x}_1 \vee \bar{x}_3) \wedge x_1) \wedge \\ \wedge ((\bar{x}_2 \vee \bar{x}_4) \wedge x_7) \wedge ((\bar{x}_2 \vee \bar{x}_4) \wedge x_8)$$

$$A=0 \text{ если } x_5=1 \text{ и } x_6=1 \text{ и } x_7=1 \text{ и } x_8=1$$

$$\text{и } (x_1=0 \text{ или } x_3=0) \text{ и } (x_2=0 \text{ или } x_4=0)$$

$x_1$	1	2	$Q(x_i, y_i)$	1	2
$P(x_i)$	1	0		1	1
$R(x_i)$	0	1		2	1

↑  
 Определить истинность высказывания  $A$

✓ 18

$$\frac{M \rightarrow P, M \rightarrow S, M}{P \wedge S}$$

$$1) F = (M \rightarrow P) \wedge (M \rightarrow S) \wedge M \rightarrow (P \wedge S) =$$

$$= ((\bar{M} \vee P) \wedge (\bar{M} \vee S) \wedge M) \rightarrow (P \wedge S) =$$

$$= ((\bar{M} \vee P) \wedge ((\bar{M} \wedge M) \vee (S \wedge M))) \rightarrow (P \wedge S) =$$

$$= ((\bar{M} \vee P) \wedge (S \wedge M)) \rightarrow (P \wedge S) =$$

$$= ((\bar{M} \wedge M) \vee (P \wedge M)) \wedge S \rightarrow (P \wedge S) =$$

$$= (P \wedge M \wedge S) \rightarrow (P \wedge S) =$$

$$= \bar{P} \vee \bar{M} \vee \bar{S} \vee (P \wedge S) = ((\bar{P \wedge S}) \vee (P \wedge S)) \vee \bar{S} \equiv \underline{1}$$

2) Проверка  $F_1 = M \rightarrow P$ ;  $F_2 = M \rightarrow S$ ;  $F_3 = F_1 \wedge F_2 \wedge M$   
 $F_4 = P \wedge S$ ;  $F = F_5 = F_3 \rightarrow F_4$



No	MPS	F <sub>1</sub>	F <sub>2</sub>	F <sub>3</sub>	F <sub>4</sub>	F <sub>5</sub>
0	000	1	1	0	0	1
1	001	1	1	0	0	1
2	010	1	1	0	0	1
3	011	1	1	0	1	1
4	100	0	0	0	0	1
5	101	0	1	0	0	1
6	110	1	0	0	0	1
7	111	1	1	1	1	1

Решено

19

$$\frac{\overline{M} \rightarrow P, M \rightarrow \overline{S}, \overline{P}}{\overline{P} \wedge S}$$

$$\begin{aligned}
 F &= ((\overline{M} \rightarrow P) \wedge (M \rightarrow \overline{S}) \wedge \overline{P}) \rightarrow (\overline{P} \wedge S) = \\
 &= ((M \vee P) \wedge (\overline{M} \vee \overline{S}) \wedge \overline{P}) \rightarrow (\overline{P} \wedge S) = \\
 &= ((M \wedge P) \wedge M \wedge S \wedge \overline{P}) \rightarrow (\overline{P} \wedge S) = \\
 &= (M \wedge S \wedge \overline{P}) \rightarrow (\overline{P} \wedge S) = \\
 &= \overline{M \wedge S \wedge \overline{P}} \vee (\overline{P} \wedge S) = \overline{M} \vee (\overline{S} \wedge \overline{P}) \vee (\overline{P} \wedge S) \equiv 1
 \end{aligned}$$

Решено  $F_1 = \overline{M} \rightarrow P$ ;  $F_2 = M \rightarrow \overline{S}$ ;  $F_3 = F_1 \wedge F_2 \wedge \overline{P}$   
 $F_4 = \overline{P} \wedge S$ ;  $F_5 = F_3 \rightarrow F_4$

No	MPS	$F_1$	$F_2$	$F_3$	$F_4$	$P = F_5$
0	000	0	1	0	0	1
1	001	0	1	0	1	1
2	010	1	1	0	0	1
3	011	1	0	0	0	1
4	100	0	1	0	0	1
5	101	0	1	0	1	1
6	110	0	1	0	0	1
7	111	0	0	0	0	1

Berno